Traffic is prohibited to:

1.Red and white cars.
2.Blue, green and white cars.
3.White, blue and yellow cars.

Which of the drivers has the right to drive straight?

1.Bus and motorcycle drivers.
2.Drivers of light passenger cars and trucks.
3.Driver of the passenger car.

Ans.'2 Ans.'3
Which vehicle driver should give way?
—""T¢
If the right arm of the traffic controller is extended forward, the
movement of non-rail vehicles is allowed:
1.From the left side - to the left and backwards.
2.0n the right side - only to the right.
3.From the left side - in all directions.
4.From the back, only to the right.
Ans.'3
1.Car driver
2.Tram driver
Ans.'2

Vehicles will drive through the intersection in the following order:

1.Tram and bus, passenger car.
2.Tram, passenger car, bus.
3.Passenger car, streetcar and bus.

Ans.'3

Which answer correctly identifies the vehicles that are allowed to
drive?

1.Motorcycle.

2.Truck.

3.Bus.

4.Passenger car.
5.Passenger car and a truck.

Ans.*4




The driver of which vehicle must give way?

This traffic constable signal means that:

1.Motorcycle driver.
2.Bus driver.

Ans.'2

1.Blue, green cars are allowed. Red, yellow, and white are

prohibited.
2.Blue, red, green cars are allowed. Yellow, white are forbidden.

Ans.'2

Which vehicles are allowed to turn right?

1.Only the red car.
2.All vehicles.
3.Red and green vehicles.

Ans.'3

Traffic is allowed:

1.Straight

2.To the right, with the first passage.

3.To the right, with the second passage.

4.To the right, with the first and second passages.

Ans.'2

Traffic is permitted:
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1.Right into the first lane.
2.Straight ahead and right into the first passageway.

Ans.'1

This traffic light prohibits traffic:

1.To the left only.
2.Straight and left.
3.Straight and to the right.
4.0nly to the right.

Ans.'1




If the arms of the traffic constable are outstretched to the sides or
lowered, the movement of non-rail vehicles is allowed:

1.0n the side of the chest and back - only to the right.
2.0n the left and right side - straight and to the right.
3.From the left and right sides - straight ahead only.

Ans.'2

The driver of the red car:

1.Must give way.
2.Has the right to priority traffic

Ans.'1

Which vehicles are allowed to drive?

1.Yellow and red cars.
2.Green, red and white cars.
3.White and green cars.

Ans.'1

At what traffic light signal is the car driver allowed to complete a U-
turn?

1.Red light.
2.Green.
3.Any

Ans.'2

What do yellow and red traffic lights on at the same time mean?

1.Allowed to start moving.

2. Prohibit traffic and warn that a green light will soon be on.

3.A vehicle with special sound or flashing light signals is approaching
the intersection.

Ans.'2

In which picture does the driver turn correctly?

&
—

1.In the left picture.
2.In the right picture.

Ans.'1




Is a tram driver obliged to give way to vehicles coming from other
directions when moving at a green traffic light?

This traffic light is used to regulate traffic:

V

1.Across the entire width of the roadway.

1.0Obliged. 2.0n the lanes of the traffic area, the direction of traffic on which can
2.Not obliged. be reversed.
3.0nly on the lanes intended for the movement of public vehicles.
Ans.'1
Ans.'2
Which vehicles are allowed to move at this traffic signal?
If the right arm of the traffic constable is extended forward, the
movement of non-rail vehicles on the left side is allowed:
1.In all directions.
2.0nly to the left.
Ans.'1
1.Tram, yellow car and red car.
2.Yellow and red cars.
3.All vehicles.
Ans.2

Traffic is permitted:

1.All vehicles.
2.Motorcycle.
3.Car and motorcycle.

Ans.'2

If the arms of the traffic constable are outstretched to the sides or
lowered, the movement of non-rail vehicles on the left and right sides
is allowed:

1.Straight and to the right.
2.Straight ahead only.

Ans.'1




The driver of which vehicle has the priority in traffic?

Traffic is prohibited for:

1.Car driver.
2.Tram driver.

1.Green and white cars.
2.White, blue and green cars.
3.White and yellow cars.

Ans’2 [ 4.Green and yellow cars.
Ans.'2
At a red signal of this traffic light traffic is prohibited:
What does the round green flashing light mean?
v 1.Warns that it is forbidden to enter the intersection.
2.Allows traffic and warns that the time of its validity expires and the
forbidden signal will be switched on soon.
Ans.'2
1.The entire width of the traffic area.
2.At a speed of less than 50 km/h.
3.0n the lane over which it is located.
Ans.'3

Will the vehicles drive through the intersection in the following order?

Which answer correctly names all vehicles that are allowed to drive?

1.Tram, red, green cars.
2.Red car, streetcar at the same time as the green car.
3.Tram at the same time as the green car, red car.

Ans.'2

1.Cars and motorcycles.
2.All vehicles.
3.Cars and a tram.

Ans.'1




If the right arm of the traffic constable is extended forward, the
movement of non-rail vehicles on the left side is allowed:

1.Straight and to the left.
2.In all directions.

Traffic is prohibited:

Ans.'2
1.Blue-yellow car to the left.
2.Blue-yellow car-straight, red car-straight and right.
3.Red car.
Ans.'1
In which direction is traffic allowed? The first to drive through the intersection:
l 277277 /
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1.Straight ahead and right into the first passage. 1.Red car.
2.Right into the first driveway. 2.Blue car.
3.Right into the second driveway. 3.Green car
4 Right into the first and second driveway.
Ans.'3
Ans.'2

In which picture does the driver turn correctly?
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1.In the left picture.
2.In the right picture.
3.In both pictures.

Ans.'1

The red car will drive through the intersection:

1.The first.
2.The second.
3.The third.
4.The last.

Ans.*4




This traffic light is used to regulate the traffic of

1.Trams and trolleybuses.
2.0nly trams.
3.The traffic of trams, as well as other public vehicles traveling in

The car will drive through the intersection:

1.The first.
2.The second.

separate lanes. Ans.’1
Ans.'3
Traffic is permitted: Traffic is permitted:
o \
1.Blue-yellow car-straight, red-right. 1.Red car.
2.Red car - straight and to the right, blue-yellow - straight. 2.Motorcycle.
3.Both cars go straight only. 3.Tram and a red car.
4. Tram.
Ans’2 | 5Blue car.
Ans.'1

Is it permitted to drive on a marked path when reversing traffic lights
are turned off?

1.Permitted.

2.Permitted for the purpose of overtaking.
3.Prohibited

4 Permitted if there is no oncoming vehicle

Ans.'3

Which vehicles have the right to continue driving in this situation?

1.The passenger car - straight ahead, a patrol car - in all directions, a
bus - only to the right.

2.0nly the patrol car - in all directions.

3.The patrol car - in all directions, a bus - only to the right.

Ans.'3




What does a traffic light signal indicate?

1.The traffic light is defective.

2.When passing through an intersection, drivers must follow the
requirements of traffic signs.

3.Drivers must wait for a traffic light signal.

Ans.'3

Is the driver of a car allowed to bypass a bus when a reversing traffic
light is off?

1.Allowed.

2.Allowed if the bus is traveling at 30 km/h.

3.Allowed if there are no vehicles moving towards you.
4.Prohibited.

Ans.'4

Which vehicle must give way?

Who has he right to continue on the designated paths?

1.Bus.
2.Motorcycle and passenger car.

Ans.'1

1.Truck driver.

2.Drivers of the bus and truck.
3.Drivers of passenger car and bus.
4.Bus driver.

Ans.'4

The vehicles will drive through the intersection in the following order:

1.Tram, car, bus.
2.Passenger car, tram, bus.
3.Car, bus, tram.

Ans.'2

In this situation, does the bus driver have the right to travel straight?

1.Yes
2.No
3.Yes, if he /she is traveling on a defined route.

Ans.'2




In which direction can the driver continue driving?

When turning right, the driver must give way:

1.To the right, into the first pass.
2.To the right, in the first and second passage.
3.To the left, in the first passageway.

Ans.'1

1.Cyclist only.

2.Pedestrians only.

3.Pedestrians and cyclist only.

4.Can continue driving without stopping.

Ans.'3

Vehicles will drive through the intersection in the following order:

1.Tram, bus, truck, motorcycle.
2.Bus, truck, tram, motorcycle.
3.Bus, tram and motorcycle, truck.

Ans.'3

Which driver has the priority right of driving?

1.Bus driver
2.Passenger car driver

Ans.'2

In this situation when making a turn

1.You have to give way to the tram
2.You will drive through the intersection first

Ans.'2

What should be done in this situation?

1.Enter the intersection and giving way to the passenger car driver
drive through the intersection

2.Wait in front of the "Stop Line" until the driver of the passenger car
drives through the intersection

3.Drive the first

Ans.'1




Which driver violates the rules of the road when making a turn?

1.Passenger car
2.Motorcycle
3.Both drivers
4.None

Ans.'3

Are you obliged to give way when making a right turn?

1.0bliged
2.Not obliged

Ans.'1

Right turn is allowed in this situation

Are you obliged to give way to the tram driver in this situation?

1.Yes, without obstructing the pedestrians
2.No

Ans.'1

1.0bliged
2.Not obliged

Ans.'2

The driver in case of green signal

1.0ught to give way to the truck driver
2.Has a priority right of driving

Ans.'1

At this intersection the driver

1.Will pass the first
2.0ught to give way to the tram

Ans.'1




The driver crossing the intersection straight

When making a turn the driver must give way to

1.Can drive the first
2.0ught to give way to the tram
3.0ught to give way to both drivers

Ans.'2

1.Pedestrian only.
2.Cyclist
3.Cyclist and pedestrian

Ans.'3

Do you have to give way to the oncoming driver when turning right?

Ans.'2

When driving through the intersection straight

1.You can drive the first
2.You ought to give way to the passenger car driver

Ans.'2

When making a left turn you ought to give way to

1.0Only to passenger car driver
2.0nly the pedestrian
3.Passenger car driver and pedestrian

Ans.'3

Is right turn allowed In this situation?

1.No
2.Yes, without obstructing the pedestrian

Ans.'2




When making a left turn

1.You ought to give way to the tram driver
2.Drive through the intersection first

Ans.'1

Which road signs do not work when their requirements contradict the
meaning of the traffic light signals?

1.Priority signs
2.Prohibition signs
3.Dictating signs
4 All the listed.

Ans.'1

In this situation the road must be given way by

When making a right turn

1.Passenger car driver
2.Tram driver

Ans.'2

1.You ought to give way to the tram driver
2.You ought to stop at the intersection first

Ans.'2

You are about to make a left turn. Who do you have to give way?

When making a left turn

1.Tram driver only.
2.None
3.Bus and tram drivers

Ans.'3

1.You will do the manoeuvre without stopping
2.After entering the intersection you ought to stop before the second
"Stop-line" and wait for the green light on

Ans.'2




Do we have to give way to the truck driver in this situation?

1.Yes
2.No

Ans.'1

To make a left turn in this situation you are required to

1.Enter the intersection and wait for the left turn signal by the traffic
constable

2.Stop before "Stop-line" marking and wait for the left turn signal by
the traffic constable

3.Enter the intersection and after giving way to the oncoming driver
drive through the intersection

Ans.'2

In what case can you drive through the intersection without giving
way to another traffic user?

1.In case of driving straight
2.When making a right turn
3.When making a left turn

Ans.'1

When making a right turn you ought to

1.Stop before "Stop-line" for not obstructing the pedestrians
2.Entering the intersection stop for not obstructing the pedestrians
3.Without stopping drive through the intersection

Ans.'2

When making a right turn

After the traffic light signal is on, you can enter the intersection

1.You ought to give way to the passenger car driver
2.Drive through the intersection first

Ans.'2

1.0nly in case reversing or making a turn
2.In both cases

Ans.'1




After the green signal is on, you are required to

1.Make sure that all the pedestrians have crossed in the non-
crossing section of the crosswalk
2.When the traffic light signal is on, immediately drive on

Ans.'1

Do you have to give way to the bus?

1.Yes
2.No

Ans.'1

When making a reverse in this situation are you obliged to give way
to the other driver

1.0Obliged
2.Not obliged

Ans.'2

In this situation, in which direction can the driver continue driving?

1.0nly straight
2.Straight and right.
3.Straight and left
4.All

Ans.'1

Which driver can continue driving?

1.None
2.0Only bus driver
3.Both drivers

Ans.'3

Crossing the line is

1.Allowed
2.Prohibited

Ans.'1




Where to stop at a traffic light signal?

1.Before the traffic lights
2.In front of the crossing section
3.In any area

Ans.'1

Making a left turn is allowed

1.At the reverse zone
2.At the zone shown in the picture

Ans.'2

Driving is allowed

Driving is allowed

1.Only straight
2.0nly right
3.Straight and right

Ans.'3

1.Straight and right
2.0nly straight
3.0nly right

Ans.'3

The arrows on the green signal of the traffic light warn

1.Right turn is prohibited
2.Driving in the right direction is regulated by an additional section

Ans.'2

Is it allowed to overtake the truck?

1.Yes
2.No

Ans.'2




In which direction can the driver continue driving in this situation?

Entering into the reverse traffic zone in this situation is

1.0nly left
2.Must wait for the permitting signal
3.Left and opposite

Ans.'3

1.Allowed
2.Allowed only for overtaking
3.Prohibited

Ans.'1

Straight driving from the mentioned zone is

Driving is allowed

1.Allowed
2.Allowed only after the main green signal is on
3.Prohibited

Ans.'3

1.Straight and right
2.0nly right
3.In all directions

Ans.'3

In this situation driving is

1.Allowed
2.Prohibited

Ans.'2




